
The Rough Diamond Guideline Price List from ADTEC (Pty) Ltd 

The Rough Diamond Guideline Price List is available as a printable document in Adobe Acrobat 
(.pdf) format. The list comprises 16 pages of rough diamond prices, page 4 of which is shown below. 

 



Each page is divided into two weight categories. The sample page above shows weights from 1.75ct 
to 1.99ct on the left and 2.00ct to 2.24ct on the right. The next page (not shown) has weights from 
2.25ct to 2.49ct on the left.  

Each weight category is divided into five shape categories – sawable 1, sawable 2, makeable 1, 
makeable 2 and flats. 

Brief Description of Stone Shapes 

 

Sawable One represents a nicely rounded octahedron or a 
dodecahedron that will yield two polished stones, which will give 
a recovery weight of 50% or more. 

 

Sawable Two is a slightly irregular octahedron (sharp edged), or a 
dodecahedron (long), or a glassy octahedron, or a normal shaped 
octahedron with a gletz/spot near to the side which can normally 
be polished out, and will yield two polished stones, which will 
give a recovery weight of 46% or more, but less than 50%. 

 

Makeable One represents an irregular octa/dodecahedron 
(slightly flattened shaped stone) that has formed a natural table 
(two or three point), or a broken octahedron/dodecahedron 
(topped/four point) that will yield one polished stone with a 
recovery weight of 40% or more. 

 

Makeable Two represents a cleavage (broken piece) or a longish 
stone of less determinable shape that will yield one polished stone 
with a recovery weight of 35% or more, but less than 40%. 

 

Flats represents macles (a flatish triangular stone with a 
‘twinning’ seam around the edge), chips (broken pieces) and flat 
stones which have sufficient depth to yield one polished stone 
with a recovery weight of 28% or more, but less than 35%. 

 
 



Below is a section of the table showing the sawable 1 portion of the page.  

Layout of Rough Diamond Guideline Price List 

1. Date of publication - updated every month  
2. Banner indicating rough weight of diamond - used for rough weight from printed weight to 

just below next printed weight  
3. Expected recovery weight - based on printed rough weight and expected recovery percentage  
4. Expected stone number and weight - based on stone shape and recovery weight  
5. Expected recovery percentage - based on shape and polishing averages  
6. Stone name - based on shape and expected recovery  
7. Rough weight of diamond - repeat of banner weight for each stone shape  
8. Indicator of price factors - all prices are in US dollars per carat and must be multiplied by 10  
9. Picture of stone shape - visual reminder  
10. Row of expected purity/grade - VVS1 through I3  
11. Column of expected colour - D through M  
12. Grid of guideline price - price in US Dollars per carat divided by 10  

 

 

Using the Guideline Price List  

1. Weigh the rough diamond. This weight determines which page you need to refer to. 
2. Find the page and section (left or right) where the actual weight is greater than or equal to the 

printed weight and less than the printed weight on the next weight category. 



3. Determine the shape section to use by selecting : 
a. The shape of the rough diamond, 
b. The recovery percentage of the rough diamond, or 
c. The recovery weight of the rough diamond. 

4. Determine the colour and purity of the rough diamond. 
5. From the grid, select the value where the colour row and purity column intersect. 
6. Multiply this value by 10 giving you US$/ct for the rough diamond. 
7. Multiply the US$/ct by the actual rough weight giving you the US$ value of the rough 

diamond. 

The following examples are based on the full page layout of the February 2000 price list shown 
above. 

Example One

Weight: One stone 2.03ct. (Go to price for 2.00ct rough) 
Colour: Color is H 
Purity: The stone appears to be clean, so take it as a VS1 (Even when looking at a glassy octahedron, 
it is easy to miss VVS2 to VS1 impurities such as very small white flecks, internal graining and 
clouds that only become visible when the stone is in the process of being polished.) 
Shape: Slightly irregular sharp octahedron. (Stone will not yield two 0.50ct. polished stones. So, we 
take it as a Sawable Two which will give us the right price for two stones; one of 0.42ct and one of 
0.50ct.)  

Therefore we have 1 x 2.03ct, colour H, purity VS1 and Sawable Two shape. 

Now look at the second section under 2.00ct rough which is Sawable Two. Find where VS1 purity 
meets with colour H. The price is shown as 71. So, add a 0 (to multiply by 10) giving a price per carat 
of  US$710. 

 Therefore, you could pay $710 x 2.03ct = $1,441 for the stone. 

Example Two:- 

Weight: One stone 2.05ct. 
Colour : Color is G 
Purity: Very small white spot in center, so take it as a VS2 
Shape: Flattened irregular octahedron with a underdeveloped three point face and therefore a perfect 
example for a Makeable One. Because it will not be sawn the small white spot will remain in the 
polished stone. 

Therefore we have 1 x 2.05ct, colour G, purity VS2 and Makeable One shape. 

Now look at the third section under 2.00ct rough which is Makeable One. Find where VS2 purity 
meets with colour G. The price is shown as 95. Multiply by 10 giving a price per carat of US$950.  

Therefore, you could pay  $950 x 2.05ct. = $1,948 for the stone. 

Example Three

Weight: One stone 1.97ct. 
Colour: Colour is I 
Purity: Small black spot on the sawing line. (Can be worked (polished) out .We take it as clean, i.e. 



VS1). 
Shape: A well rounded octahedron and therefore a Sawable One. 

Therefore we have 1 x 1.97ct, colour I, purity VS1 and Sawable One shape. 

Go to the first section under 2.00ct rough which is Sawable One. Find where VS1 purity meets with 
colour I. The price per carat is $680. 

Therefore, you could pay $680 x 1.97ct = $1,340 for the stone. 

Example Four

Weight: One stone 2.09ct. 
Colour: Colour is F 
Purity: A third of the stone is gletzed 
Shape: Broken flat piece and therefore a Flat. 

Therefore we have 1 x 2.09ct, colour F, purity I2 and Flats shape. 

Go to the fifth section under 2.00ct rough which is Flats. Find where I2 purity meets with colour F. 
The price per carat is $110.  

Therefore, you could pay $110 x 2.09ct = $230 for the stone. 

Example Five

Weight: One stone 1.86ct. 
Colour: Colour is I 
Purity: One side will come clean (VS1) and the other side will be SI1 
Shape: Very good dodecahedron which could yield two 0.50ct polished stones, if the absolute 
optimal return is achieved. This represents a weight recovery of 54%. Most buyers would, however, 
plainly prefer to take the stone at the closest weight group which is a 1.75ct Sawable One. 

This will give you $500 per carat, (VS1 @ $560 + SI1 @ $440, divided by 2 = $500 ).  

Therefore, you could pay $500 x 1.86ct = $930 for the stone. 

We will now show you how you can use the list if you are buying a single stone and need to pay the 
maximum, in order to get the rough. Forget about the initial rough weight for the moment. Look at the 
polish information blocks, and find the weight recovery block that coincides with what you think the 
stone can yield, when carefully measured. In this case it is 2 x 0.50ct. This time, we will take it on 
the 2.00ct list as a Sawable One. 

Once again, you take the following information:- 
1 x 1.86ct. of colour I, one side will come clean (VS1) and the other side will be SI1. It is taken as a 
Sawable One stone. 

Now look at the first section under 2.00ct. rough which is Sawable One. First, find where VS1 purity 
meets with colour I. The price per carat is $680. Secondly, find where SI1 purity meets with colour I. 
The price per carat is $570. This will give you $625 per carat, (VS1 @ $680 + SI1 @ $570, divided 
by 2 = $625 ).  

Therefore, you could pay $625 x 1.86ct = $1,163 for the stone. 



You can go one step further in this case, and multiply the price per carat of $625 by 2.00ct which 
allows you to pay $1,250 for the stone. The reason is, the stone can yield 54% weight recovery, which 
is the same as a 2.00ct rough Sawable One stone on the list, which can give a recovery of 50% (two 
50 pointer polished stones.) 

The reverse will apply for a weaker stone. For example, a 2.04ct, colour I, purity SI1, octahedron in 
the rough that has surface gletzes and/or the shape is so long that the stone will only recover 2 x 
0.40ct round polished stones. 

Look at the information blocks for smaller stones until you find the equivalent polish, i.e. two 40 
pointers. You will find this under the 1.75ct rough section for Sawable Two (0.41+0.41) on the list. 
The price per carat is $390.  

Therefore, you could pay $390 x 1.75ct = $683 for the stone. 

Note: We only paid for a 1.75ct stone and not a 2.04ct stone. Therefore, the price per carat when 
taking the full weight of 2.04ct. was only $335 per carat. ($683 ÷ 2.04ct = $335.) 

 

All Things Being Relative 

Remember, you should only pay for a rough stone, a price which is relative to the value of the 
polished stone (or stones) which can be recovered from it. 

Therefore, the ADTEC Rough Diamond Guideline Price List already has the industry average 
discount for polish, the industry average cutting cost and the industry average profit margin for rough 
diamonds built into it. 

These factors, together with the information blocks of expected recovery weights, allow you to be 
completely flexible in the price you pay for your rough. This means the list is not a ‘dead’ or ‘passive’ 
list, but is very much ‘alive’ and ‘active’. Thus, the list will provide great benefits to both rough 
dealers and polishers. 

 
 


